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BRXHRANNEZERFS N CiscoRETRIAN,

\

FF ¥4 ifindex

HELESNMPE |, BEEFINWAB 2 —Riflndex. XRFIANRBER. RRFIEED (WE
M2 ) MEVBHAIE TH. WEERZEIHMAIE , FETRENR. URFER MR ERE
OWERER , EX4NERZEEE.

Ifindex?EIF-MIB(RFC 1213)F 5L cFAXENX :

I nterfacel ndex ::= TEXTUAL- CONVENTI ON
DI SPLAY-HI NT "d"
STATUS current
DESCRI PTI ON

"A uni que val ue, greater than zero, for each interface
or interface sub-layer in the managed system It is
recommrended that val ues are assigned contiguously
starting from1. The value for each interface sub-
| ayer nust remain constant at |east fromone re-
initialization of the entity's network managenent
systemto the next re-initialization.”

SYNTAX I nteger32 (1..2147483647)

XFEMRMIB , RETHARARNREINEEREFTREE !

i fEntry OBJECT- TYPE
SYNTAX I fEntry
MAX- ACCESS not - accessi bl e
STATUS current
DESCRI PTI ON
"An entry containing managenent information applicable
to a particular interface."
INDEX { iflndex }
:={ ifTable 1}

LEMIBRESLE , IBEMNMANER#IITES, T—TRMHEiflndexty R~Hl,

RAXNR
ETF ifindex BHEFHR

YR K Hsnmpwalkin TR IR Lk O7/40 & FifindexBI X R (ifName) Bt |, EEBEI A T H

sj-cse-568: snnmpwal k 172.16.99. 60 public ifnane

ifMB.ifMBObjects.ifXTable.ifXEntry.ifNane.1l = scO
ifMB.ifMBObjects.ifXTable.ifXEntry.ifNane.2 = sl0
ifMB.ifMBObjects.ifXTable.ifXEntry.ifNane.3 = VLAN-1
ifMB.ifMBObjects.ifXTable.ifXEntry.ifNanme.4 = VLAN- 1002
ifMB.ifMBObjects.ifXTable.ifXEntry.ifNane.5 = VLAN- 1004
ifMB.ifMBObjects.ifXTable.ifXEntry.ifNanme.6 = VLAN- 1005
ifMB.ifMBObjects.ifXTable.ifXEntry.ifNanme.7 = VLAN- 1003
ifMB.ifMBObjects.ifXTable.ifXEntry.ifNane.8 = 7/1
ifMB.ifMBObjects.ifXTable.ifXEntry.ifNane.9 = 7/2


//tools.cisco.com/Support/SNMP/do/BrowseOID.do?local=en&translate=true&objectInput=ifIndex
http://www.ietf.org/rfc/rfc1213.txt
//tools.cisco.com/Support/SNMP/do/BrowseOID.do?local=en&translate=true&objectInput=ifName

ifMB.ifMBbjects.ifXTable.ifXEntry.ifNane.10 = 7/3

!-—- This is the relevant line: ifMIB.ifMIBObjects.ifXTable.ifXEntry.ifName.1l1l = 7/4
ifMB.ifMBbjects.ifXTable.ifXEntry.ifNane.12 = 7/5
ifMB.ifMBbjects.ifXTable.ifXEntry.ifNane.13 = 7/6
ifMB.ifMBbjects.ifXTable.ifXEntry.ifNane.14 = 7/7
ifMB.ifMBbjects.ifXTable.ifXEntry.ifNane.15 = 7/8
ifMB.ifMBbjects.ifXTable.ifXEntry.ifNane.16 = 7/9
ifMB.ifMBbjects.ifXTable.ifXEntry.ifName.17 = 7/10
ifMB.ifMBbjects.ifXTable.ifXEntry.ifName.18 = 7/11
ifMB.ifMBbjects.ifXTable.ifXEntry.ifName.19 = 7/12
ifMB.ifMBbjects.ifXTable.ifXEntry.ifNanme.20 = ATMB/0
ifMB.ifMBbjects.ifXTable.ifXEntry.ifNanme.22 = /A
ifMB.ifMBbjects.ifXTable.ifXEntry.ifNane.23 = /B
ifMB.ifMBbjects.ifXTable.ifXEntry.ifNane.24 = Nu0
ifMB.ifMBbjects.ifXTable.ifXEntry.ifName.25 = LEC/ ATMB/ 0. 10
ifMB.ifMBbjects.ifXTable.ifXEntry.ifName.532 = 3/1
ifMB.ifMBbjects.ifXTable.ifXEntry.ifName.533 = 3/2

!I'--- Output suppressed.

Xt ifName (B8 25 L AVifDescrWR O ML+ , EEE , STEEBHNT —1. XRDTESRE
— T EFRFEAMIfindex, XERERLANEZIT (WwA7/4 ) D Tiflndex 11, FREMN
ifindexed X RIREIR A7/4MELR , BEMARSI11, XEKEEMIBN RIFIRFF(OID)R KR E AR
11, B REHEEfiIndexx R AYX REHIE.

ifindex KA TR 5|RNEVBHRXX RS HELATNR
Bt , RAF2BEIifindexi# 7% 5| , flE15BRIDGE-MIB—i2#1T% 5|, tRAHFREHEZRS|IFX

dot 1dBasePort Entry OBJECT- TYPE
SYNTAX Dot 1dBasePort Entry
ACCESS not-accessible
STATUS nmandat ory

DESCRI PTI ON
"Alist of information for each port of the
bridge."

REFERENCE

"] EEE 802.1D-1990: Section 6.4.2, 6.6.1"
I NDEX { dot 1dBasePort }
::= { dotldBasePortTable 1 }
%% H Z ‘Rdot1dBasePortEntry i dot1dBasePorté #l & 5|, iX f{A ¥ #2 @ ifIndex?BRIDGE-MIBA
[a] & F dot1dBasePortlfindexfI X K, NRUENLFRMOT :

dot 1dBasePort | f I ndex OBJECT- TYPE
SYNTAX | NTEGER
ACCESS read-only
STATUS nmandatory

DESCRI PTI ON
"The value of the instance of the iflndex object,
defined in MB-11, for the interface corresponding

to this port."
::={ dot1ldBasePortEntry 2 }

Z5 H & R MBRIDGE-MIBXEREIIF-MIB, F—NMNROIBTR T EMAILEEE—#E,

A% : BRIDGE-MIBRIZVLANITERY , Eith#t X “public@vian-id" &7 A T IEVLANTER IR,

¥ BRIDGE-MIB %Kk Z IF-MIB



//tools.cisco.com/Support/SNMP/do/BrowseOID.do?local=en&translate=true&objectInput=ifDescr
//tools.cisco.com/Support/SNMP/do/BrowseOID.do?local=en&translate=true&objectInput=dot1dBasePortEntry

£BRIDGE-MIB £ % isnmpwalkit , BFIREREIN T — N ROIA@E. £
dot1dBasePortlfindex(.1.3.6.1.2.1.17.1.4.1. 2)F H M 5 Elifindex. 3KSiflndexfs , AT RE
ifindex¥C ) H XS 5K,

sj-cse-568: snmpwal k 172.16.99.60 public .1.3.6.1.2.1.17.1.4.1.2

17.1.4.1.2.203 = 671
17.1.4.1.2.204 = 672
17.1.4.1.2.205 = 673
17.1.4.1.2.206 = 674
17.1.4.1.2.207 = 675
17.1.4.1.2.208 = 676
17.1.4.1.2.209 = 677
17.1.4.1.2.210 = 678
17.1.4.1.2.211 = 679
17.1.4.1.2.212 = 680
17.1.4.1.2.213 = 681
17.1.4.1.2.214 = 682
17.1.4.1.2.215 = 683
17.1.4.1.2.216 = 684
17.1.4.1.2.257 = 581
17.1.4.1.2.385 = 8
17.1.4.1.2.386 = 9
17.1.4.1.2.387 = 10
17.1.4.1.2.388 = 11
17.1.4.1.2.389 = 12
17.1.4.1.2.390 = 13
17.1.4.1.2.391 = 14
17.1.4.1.2.392 = 15
17.1.4.1.2.393 = 16
17.1.4.1.2.394 = 17
17.1.4.1.2.395 = 18
17.1.4.1.2.396 = 19
17.1.4.1.2.449 = 22

AR ATT(17.1.4.1. 2. 388 = 11)E 7~ 3882 &5, RAEMBRIDGE-MIBE#ET
dot1dBasePortlfindex 3 & , FTll. 388 R2dot1dBasePortlfindex, #iH#9113%kR L iflndex, MR
Mt 8N E— xR EEE , ATHERO7/48iflIndex}y 11,dot1dBasePortlfindex ( BRIDGE-
MIBHZ 5| ) . 388,

HXER
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